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Part 1 (60 marks)

For each question from 1 to 30 4 options are given.
One of them is the correct answer. Make your choice, (1, 2, 3 or 4).
Shade the correct oval (1, 2, 3 or 4) on the Optical Answer Sheet.

1. Abigail carried out an experiment to find out how heat can affect matter. Hot
water was poured into 2 glasses of the same thickness as shown below After
some time, Glass A cracked but Glass B did not.

Hot water
at 90°C- J—. \ I
‘ o~ _\ /
~ 1
\ I
1 I
Glass A Glass B

Which of the following best explains the outcome of the experiment?

-Glass A

Glass B

(1)

Inner surface of glass expanded
more than outer surface.

Inner and outer surface of glass
expanded at the same rate.

(2)

Inner and auter sutrface of giass
expanded at the same rate.

Inner surface of glass expanded
more than outer surface.

@)

| Outer surface of glass expanded

more than inner surface.

Inner surface of glass expanded
more than outer suiface.

(4)

Inner and outer sutface of glass
expanded at the same rate.

Outer surface of glass expanded
more than inner surface.

2. Which of the following traces the route of digestion in our body?

(1) Mouth—>Gullet —> Small Intestine —> Stomach —> Large Intestine
(2)Nose —>Gullet —> Stomach—> Small Intestine—s Large Intestine
(3) Mouth—>Gullet —> Stomach —> Small Intestine—> Large Intestine
(4) Mouth —>Winc|bipe —>Small Intestine —> Stomach —> Large Intestine




3.

Study the classification table below.

Animal

—

Cold-Blooded |
.- Warnr Blooded / \ i
Has'2 legs Has'4 legs- No Iegé' Hav_
: -
W ” v [w-,-__
Which one of the following pupi[e identified the animals-correctly? -
Pupils w X Y 4

(1) | Barbara Guppy Deer Dolphin Lizard :

@) [ Candice Fly Ladybird Guppy Frog

(3) i Daniel Penguin Lizard Turtle. ‘Toad ) ‘

(4) |Eiiza Chicken Lion Snake | Crooodiis™

Martin carried out an expenment to 'see how long. his hand could remair on
the surface of a hot plate. The table below shaws the results. .

Temperature of hot plate - Time taken before his hand.
o surface ' leaves the surface of the hot
plate (s)
40 4
60 2
80 0.5

What conclusion can Martin make from the experiment? . . -

(1) Heat travels from a-hotter fo cooler place.
(2} Heat travels.to. Martin’s.hand faster. if the temperature is.lower. .
(3) The hotter the surface of the plate, the faster his hand Ieaves the surface

of the hot plate. -

(4) As-the temperature of the surface of the hot plate fficreases, Martin will

leave his hands there longer.



5.

Gordon set up the following experiment to find out which type of soil would

retain water best.

%

NEVANVANEYAN
7 7 N %

0 1] 0
0 4] [
P al| | R S
Soil Time taken for first drop Amount of water in
Sample ‘of water to-fall into cylinder after 20 minutes
| cylinder {mi)-
(s) '
P 6 200
Q 29 70
R 18 100
s 10 ?

Which one of the following data would Gordon most likely record for Amount

(nso . (3) 150
(2) 100 S | (4 200

-of water in cylinder after 20 miinutes in Soit Sample S in his table above?




6.

Study the graph below.

Temperature (°C)

90°C -

y. Time {mins)

Faridah wanted to boil eggs. She had to decide among the cooking pots made
of different materials. Which one of the following materials would allow.her to
cook the eggs in the shortest time?

(DA ' | 3)C

(2)B 4D

Jackie made the following observations-about 2 animals, T and-S. She drew
up'the table below. '

: Ajﬁimals , T S
Feathers v
Scales v
Legs - . v . c v
Wings ~° o . - v

i Jocee -

What san¥andy définitely conclude from her observations.above? -

A: Animal S cannot+ly
B: Animal T cannot fly
C: Animal-S is a fish
D: Animal T is a fish
E: Animal S is & bird
F: Animal T is a bird

(1)BandD @)A,CandF
(2)BandE (4)A,—B ahd D-



Study the flow chart below.

Does its Yes Does it Yes X
young live >| havea3 >
in water? stage life
cycle?
\l{ No
Y
Does it lay Yes Does it es 7
egas? > | havea3l >
stage life
; cycle?
‘L No J{
w
Which-one of the following cofrectly identifies the. animals’?
w X Y z
(1) " " 'Beetle T Mosquito ' ) _C’oEKtQaCH-
(2) . Bee . Mosquito .Grasshopper
(3) Butterfly Frog: Grasshopper-
(4) Grasshopper Joad Beetle

. The diagram beiow shows a human reproductive system.

What would happen if parts A were remoyved?

(1) No eggs can be released.
(2) More eggs will be released.
(3) The foetus will develop in the vagina,

(4). The sperms will not be able to be produced.




10.  Study the water cycle below.

Process B

Wattet vapoirr.in-the air

T Process A

Watef -

Wf*iich oné-c_)f the following describes if heatis gained or lost by the water for
Process A and Process B? -

A B

(1) | Heat Gain Heat Loss
(2) | Heat Gain - Heat Gain
3) | Heat Loss Heat Gain
4) | Heat Loss Heat Loss




11.  Gordon picked up a seed as shown in the diagram below while walking at a
park.

Wing-like structure

The seed is likely to be dispersed by

(1) Wind ‘ (3) Animals
(2) Water (4) Splitting

12.  Look at the following set-up.

lce Water from . Melting ice
cubes melted ice cubes
TR ' A |
e ST
Beaker A Beaker B Beaker C

Helena recorded the temperature of the set-ups in a table. Which one of the
following shows the correct recording?

Beaker A | BeakerB |BeakerC
1 -2°C 3°C 0°C
2 0°C 3°C 1. 5°C
3 -2°C 0°C -1°C
4 0°C 0°C. 2°C )




13.

14.

[ Cell Membrane A | N

Study the experiment below.

glass sheet

— = Water droplets-

bubbles

burner

Why did water droplets appear on the inner surface of the glass sheet?

(1) The water vapour was cooler than the glass sheet and the water vapour
condensed into water droplets.

(2) The glass.sheet was cooter than the water vapour and the water vapour
‘condensed into water droplets.

(3) The bubbles rose to the surface of the water and condensed into water

droplets. '
4) The surface of the glass sheet inside was warmer than the outer surface

and water droplets formed on it.

Study the classification table below.

Cell A - 1 Cell B CeliC -

Ceil Wall -\l . \/

Nucleus

.Chloroplast ‘ \/

Which one of the following represents. a cell from a roof hair?

(1) A only {3) Aand C only
(2) B only (4) Aand B only.



15.

16.

Jacob set up an experiment as shown below.

Some more air was pumped into the tank

Air pump

This is because air

TR s A A

1.. Airtight tank of
volume 1500mil

: m 200 ml of water

e A
but the volume remained the same.

(1) has mass

(2) takes up space

(3) cannot be compressed
(4) does not have a definite volume:

Thomas drew a map of a piece of land where Plants Q and R'were found

growing.

River

© (the arrow

shows the
direction of
current)

Which of the following would best represent Plant Q.and Plant R?

™~

O Plant Q
A Plant R

Plant Q Plant R-
(1) | Coconut Love Grass
(2) | Angsana Coconut
(3) Lové Grass éocon ut
4) Loﬁe Grass Angsana

10




17. - Suyin carried out an experiment to find out which beaker would have the least
amount of water after 1 week. She placed all her beakers on the table.

Layer of ail

Beaker R Beaker S

She monitored the afount of waterin each beaker every:2 days. Choose the
graph that most likely shows her observation.

(1) 20
200 4= C—
150 T s | *wmema Boaker R
L ™Y .
100 Beaker S
50 : e =Beaker T
1] T T T —
2 Day 4 Day -6 Day 8 bay
) . 250
200
150 cameans Boaker R
100
e Beaker S
50 -
"D ' o wBeaker T
L) T [] 1
2 Day 4 Day 6 Day 8 Day
(3) 2s0
200 ——W— .
; ' . wmmman Boaker R -
150 J&—ﬁ. e ..
. 100 = : A - Beaker S
50 ; b = wBeakerT
~
D T ¥ T 1
2 Day 4 Day - 6Day - 8 Day
- e - 250
(4)
. 200 . . _ ]
150 wmsmBoakerR -
100- -Beaker S
50 Beaker T
’ 0 L] ¥ L] 1

2 Day 4 Day A 6 Day 8 Day

11



18.

19.

Martha placed a flask of water with a temperature of 15°C on a glass beaker

of water with a temperature of 80°C. After 5 minutes, she r_e'cordéd.her
observation.

water
at16°C
glass
beaker water at
80°C.

Whicﬁ of the following describes what she had observed?

A Water droplets are visible at the bottom of the flask.'

B Water droplets are visible at the. inner surface of the flask.

C Water droplets are:visible at the outer surface of the glass beaker.
D Water droplets are visible at the inner surface of the glass beaker.

(1) A and B only - - (3)AandD only
(2) B and C only (4) C and D-only
Study the table below.
Substances | - d : . K
Melting: point { 20cc | 40°C
" Boiling point " 60°C 80°C

Which of the following .sfatemenfé describe J-and K correctly?

A Both substances melt at 36°C. -

B Both substances boi at60°C. .

C Both substances are solids-at 10°C.

D Both substances are only:liquid at 80°C -

(1) B only - (BYAand D
(2) C only (4) Aand C_

12




20.  Kelly wanted to find out whether glass or cardboard is a betfter conductor of
heat. :

M N o ' P
cardboard flass

g O R 4 3 _"3_-._ .sj
Water 80°C. Water 80°C Water 80°C Water 70°C
100:ml. 150 mi 180.ml ’ 150 ml

Which of the 2 set-ups should she use-to'conduct her experiment?

(1) Nand Q | . (3 PandQ
(2) Mand O - (4) Mand N -

21.  Craig placed a torch at position B. He also plé_ced an object at position D =
' stiown Below. A shadow was cast on the screen.

i T —

scieen

Which of the following set-ups will result in the -smallest shadow on the

5 screen?
Position of torch - Position of object
m , C ‘ E
(2) C D
(3) A 1 D) -
@) A ' ' E

13



22.

Length of shadow (m)

One night, Derek walked along a pavement and he paésed under a street

- lamp.

i

famp post

> [l

C

Which one of the following grapﬁs show the change in the length of his |
shadow as he walked from point-A-to B and then to C?

(1) (3)
E
[e]
)
411
B
“6 .
L
=
[sH]
-t
A B C A B C
@) (4)
E E
5 g
T 0.
. ©
L K
0 »w
s ‘G
£ £
O [
f [l
4 o
A B c A B c
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23. A stalk of tulip was placed in coloured water as shown below.

. Petals

Leaf

mema=ms busmsewr Cross section that
' : was cut

Blue coloured
water

After two days, the stem was cut. Which one of the following cross section of
the stem would be observed? -

(1).

@) | @

15



24.

25.

The picture shows a skeleton of an animal.

Which one of the other following systems must Work together with ‘X’ 1o
enable it fo move?

(1) Muscular system (3) Circulatory system .
(2) Digestive system (4) Respiratory system

~ Look at.the plant below.

What is the function of part Y?

(1) It keeps the plant upright.

(2) It provides food for the plant.

{3} It holds the plant fily to the ground.

(4) it trahsport water to other parts of the plant.

16




26.. Viviene wganted' to test the strength of different magnets. She set up ai
experiment as shown below. :

e

[FLATALA LIS LTI AR ATIAV IS LA b CTAT

From the above results of her experiment, what can Viviene ‘conclude from
her experiment?

(1) Magnet C is weaker than-magnet A.

(2) Magnet D is stronger than Magnet C.

(3) Magnet C is the strongest and Magnét B is the weakest. )

(4) Since the magnets are hung at different length, she is unable to find wiv .
~Is the strongest magnet. '

27.  The diagram below shows a picture of a cell. -

The cell is likely to be taken from.a

(1) plant . (3) fungi- - L
(2) mammal (4)fish

17



28.  Sharon hung a magnet a$ shown in the diagrarm below and gave it a spin.

After 1 minute, which one of the following observation will she make?

(1) The bar magnet will spin contlnuously

(2) Th& bar magnet will stop spinning and rest itself at the East-West
direction.

(3) The bar magnet will stop spinning and rest 1tself at the North-East"
direction.

(4) The bar magnet will stop spmnlng and rest itself at the North-South
direction.

29. AtMr Tan's factory, the goods are counted when the lights are cgmpletely
Blocked. Mr Tan later discovéred that some of his goods were not counted for.-

Direction of goods on the line - Light.sensor

WV

Light-source

‘Which one of the following.is a possHe reason why the items were not
accounted for?

(1) The light source was too bright.

(2) The goods were made of clear glass:

(3) The goods were placed too close.to the Jight sensor.

(4) The goods were placed at unequal-distances from each other.

18
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30. Dee poured hot water into 2 cups made of thessame material as shown in the
diagram below. ‘

Cup'A
She realized that she could hold Cup B for a longer time as compared to cup
A. Which one of the following best explains. this?

(1) Cup A'is a better conductor of heat than cup B

(2) Cup B is a better conductor of heat than cup A.

(3) Dee’s hand was in contact with a larger surface area for cup B than A.
(4) Dee's hand was in contact with a smaller surface area for cup B than A.

19




Part 11 {40 marks)

“Answer all the following questions.

31. Iskandar set up the following experiment in his classroom.

~ Hotwaterin

small cup~__|

Tap water { o n S By
{in Acrylic

container) Steel

Channel 1 — Set-up with steel cup
Channel 2 — Set-up with glass cup
Channel 3 — Set-up with plastic cup

After 3 minutes, he recorded the temperature of water in each acrylic
container as shown in the table below.

Steel Cup

Glass Cup

Plastic Cup

Temperature of waterin .
the acrylic containers

50°C

45°C

- 40°C

(a5 Exbiéin why the temperature of water in the acrylic container that has'the
steel cup is higher than the water in the other acrylic containers? (2m)

{b) From the results above, which material would Iskandar use to transport ice?

(1m)

21
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32. Toby observed and recorded changes in some beans placed on moist cotton
wool in the container shown below.

(a) in the boxes below, arrange in order of appearance Toby's observation. {(1m)

A: A tiny shoot grows upwards.
B: A root grows downwards for water.
C: The bean absorbs water, swells and the seed coat cracks open

(b) What are the conditions necessary for gemination to take place?(1m)

33. Below is an amoeba which is a single-celi organism.
Label the parts of the cell in the boxes provided in the diagram below. (2m)

22




34. Study the family tree below.

Legend:

Male curli hair Male straight hair Female curly hair

Female straight hzir

O

(a)-Who did Lynette’s brether inherit his fype of hair-from? (1m)

€
A

Lynette -

(b) Read the following statements. For eééh, tick the corfect boxes ‘True, “False’

or:Not Possible-to Tell in the table below- (Zm)

23

True | False Not
Possible
: to tell
) Lynette’s grandmothers have curly hair. _’
(ii) if Lynette had children of her own, they N
will all have curly hair.
3




35. Henry wanted to test if d:fferent liquids couid float on top of each other. The
diagram below shows the results of his experiment.

e NN g

(a) Henry then poured all the different liquids into 1 container.
In the box below, write the letter of the different fiquids in the correct position
when they are put together.
The topmost letter has already been written for you. (2m)

Liguid

_TOrOeOOrrOrie

AT T LY
i
. -:. t"‘ 2, v\-,,.‘- -t

- "c
._. .-‘n‘.‘a.

-‘d -

(b} Henry placed the contairier undisturbed in his balcony. After a wegk he
noticed that the liquid- level had decreased. Explain his observation. (1m)

24




36. The flowers below have been grouped into 2 groups — X and Y.

Group Y

(a) Wiite: down a suitable h&ading for Grup X and: Grauip Y.(1m)
Group X: .

Group Y: _

' : VRO W)
(b) The flower below has been pollinated. In the diagram below draw tise the

symbol ‘#* to represent pollen grains on the correct part of the flower to show

goliinaﬁon. {1m) .
ir

{ e

25



37. Edward set up an experiment in a dark room as shown below.

—(

torch

P

Q

R

S

\

Y

On Scfeen S, a dark shadow was formed for Object Y and a lighter shadow
was formed for Object X.

Based on this observation put a tick (+') in the correct boxes. (3m)

True | False | Not
| Possible
to tell
() Only Screens Q and R allowed light to pass
through. '
(b) Object Y is made of wood.
(c) Object X allowed some light to pass through it.
26 3




38. Emily filled 3 containers made of different materials with hot water.
After 5 minutes, she plotted the temperature of the materials in the graph
below.

Teniperature of materials °C

Time

(a) Arrange the material from the best to the poérest conductor of heat. (1m)

(b) What would happen to the tefnperature of all 3 ‘materials after 5 hours? (1m)

(c) Which material would allow hot coffee to cool the fastest? Explain your
answer.(2m)

o7 . /



39. - Bertie wanted.to find out if the exposed surface area of a container would affest
the rate of evaporation. She placed containers X, Y, Z filled with* water on a
table as seen in the diagram below.

..............................

(2) Besides the location, state 2 control variables to ensure a fair test. (2m)

(b) What must Bertie measure at the end of her experiment? (1m)

(c) Arrange the beakers in order, starting with the least amount of water left in it
after one week. (1m)

28




40.

(=]
o}

[
o

Temperatura of substance X

Substance X was heated and then left to cool fo room temperature. The civp.
. Below recorded its temperature over time.

>

(2) What procsss is taking place from AtoB? (Im)

Time

(b) What state/s of matter is/are Substance X in at CD? (1m)

(c) Tick the correct boxes on whether substance X

surroundings.(2m)

gained or lost heat fo the

AB

BC

CD

DE

Heat
gain

Heat
loss

20




41. The diagram below is a model of our circulatory system. The arrows represent
blood vessels.

Head «
Organ X
G . y H
— Heart S—
Legs <

(a) Staté the differénce between the level of oxygen in the blood at G'and H. (1m)

(b) Organ X is also part of our respiratory system. What is Organ X? (1m)

30




42. Below is a picture of a plant.

(a) What would happen to the plant if Part L was removed? Explain.your answer.
(2m) -

* (b) Pairt J was observed uhder the microscope. List the main function of J. (1m)

() Draw the life cycle of the.plant in the box below. (1m)




43. Study the table below.

Characteristics  Animal X | Animal Y
Moults Y :
Lays eggs ' v
Has hair v
Has wings v

(a) Based on the table above, describe Animal Y. (1m)

(b) Harold was asked by his teacher to give an example of animal X. He gave
‘butterfly’ as his answer. Is.Harold correct? Explain your answer. (1m)

44. Study the life cycle of organism A below.

Egg

Stage C Stage A

o
Stage B |

Life Cycle of Organism A

(@  Organism A is a pestand can fly at Stage C. Spencer wants to reduce the
-number of Organism A but he was told that killing them-at stage C was nStthe .
best solution to his problem. Besides the ability to fly, state another reason

why killing them at Stage C is not the best solution. (1m)

(b)  Suggest what Spencer should do to solve the problem. (1m)

32
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